Plan Cartésien (A)

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (A) Solutions

Placez les coordonnées suivantes sur le graphique.

(-8,15) (7,3) (-6,14) (6,19) (0,12) (7,3) (3,6) (-3,16)
-7,4) (-1,6) (7,1) (8,4 2,14 @, 1) (67 (417

(6,[19)
L

-
O

[
g0

4,17)

[
~
L

(-3,16)

L
e
@)}

(-8,/15)

L
[
Cn

(-6,|14) (2, [14)

i
(WY
N
L

bt
Qo

~
S

12)

5

Ptk
(WS

[
=

=}

ao

(-6, 7)

(-116) (36)

W

(8] 47| 4)

(743)

%)
L

No

2,1 (7 1)

—_—
L
n

P

[

MathLibres.com




Plan Cartésien (B)

Placez les coordonnées suivantes sur le graphique.

-7,15)  (8,3) (1,18) (-6,14) (8,15 (-7,13) (3,7) (3,18)
6,6) (5,4 (7,18) (2,1) (8,14) (4,17) (-6,12) (-8, 11)
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Plan Cartésien (B) Solutions

Placez les coordonnées suivantes sur le graphique.

-7,15)  (8,3) (1,18) (-6,14) (8,15 (-7,13) (3,7) (3,18)
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Plan Cartésien (C)

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (C) Solutions

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (D)

Placez les coordonnées suivantes sur le graphique.

-6,1) (5,12) (2,8 (5,5 4,2 (4,13) (L,3) 5, 9)
(-6,5) (3,00 (-8,14) (7,5) 4,4 2,2) (1,14) (-8,19)
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Plan Cartésien (D) Solutions

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (E)

Placez les coordonnées suivantes sur le graphique.

(5,15 (-1,18) (5,3) (1,3) (2,14) (-5,12) (4,9) (-4, 11)
(-2,3)  (5,8) (-8,2) (-5,4) (2,19) (-1,8) (0,16) (3,10)
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Plan Cartésien (E) Solutions

Placez les coordonnées suivantes sur le graphique.

(5,15 (-1,18) (5,3) (1,3) (2,14) (-5,12) (4,9) (-4, 11)
(-2,3)  (5,8) (-8,2) (-5,4) (2,19) (-1,8) (0,16) (3,10)
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Plan Cartésien (F)

Placez les coordonnées suivantes sur le graphique.

-7,8) 3,11) (4, 1) (5,00 (7,10) (-6,1) (-2,13) (8, 14)
(7,0)  (3,14) (-6,17) (6,13) (-8,10) (0,16) (-5,19) (2,10)
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Plan Cartésien (F) Solutions

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (Q)

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (G) Solutions

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (H)

Placez les coordonnées suivantes sur le graphique.

6,10) (-3,5) (2,190 (6,19) (2,14 (59 (2,9 (0, 19)
(-3,9)  (7,0) (-1,15) (-6,6) (1,14) (2,8) (6,8) (8,11
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Plan Cartésien (H) Solutions

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (1)

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (I) Solutions

Placez les coordonnées suivantes sur le graphique.

-6,7) (-7,13) (1,12) (2,9) (0,1) (4,0) (3,14) (1, 10)
(7,19) (-7,17) (-1,1) (-7,16) (-8,2) (-4,16) (0,17) (3,12)

N
d

(7,119)
<

[
\$

et
ago

(-7,/17)

~
=

17)

b
+
¢

-7.716) (4 16)

4
4
e
@)}

[
Qn

(-3,|14)

4
[SiY
N

(-7,/13)

4
Wiy
Qo

(1,l12) | 3,]12)

[
[\ 9]
4
4

Wiy
[

(1,]10)

[
=
4

(29

O
4

ago

(-617)

4
-

N

Ch

s

(U]

(-8 2)

(4, 0)

4
P

MathLibres.com




Plan Cartésien (J)

Placez les coordonnées suivantes sur le graphique.
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Plan Cartésien (J) Solutions

Placez les coordonnées suivantes sur le graphique.
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